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Unit 1: Functions Pt. 1
Test/Quiz Tab

Quiz 1 Review
Functions, Domain, Range, and Average Rates of Change

Directions: Answer the following questions. Show and/or explain all work.

1. State whether the following are functions or nonfunctions. If it is a nonfunction, state

why.
a.
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2. State the theoretical domain and range of each of the functions below.

a. f(x)=2x-9 ' b. f(x) =+v2x
D o\ veals | O
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c. fly=-2 d. f(x) =x%2-9
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e. f(x)=¥x f. f) =2
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3. The intensity (in watts) of a light source is a function of its distance (in feet) from an
object as defined by I(d) = 150

a. Which variable represents the input? C’l

Which variable represents the outputs? L or I(d \)

b. Find the intensity for the given distance:

1(10) = \ : Show your work over here:
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c. Find the distance(s) that produce the given intensity:

=4, ¢l= S, \‘ﬂ s {00 Show your work over here:
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d. Write a sentence explaining I(5) = 4 in the context of the problem.
Whn oo cuuud Sronn e o‘Q\ et 15 S “Q‘:
Nahw ierensity 15 A (uakts.

e. Refer back to your solutions to part c. Do all of your solutions make sense in the
context of this problem? Explain your reasoning.

NO, Cant hove \/\‘L%ovr“\vfz AiStenu s

f. Describe the theoretical domain & ranges of the intensity function /(d) = 16%0
D d=0
R ILT#O

g. Describe the practical domain & ranges of this function. Explain.
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4. The graph below shows y = h(t), which gives the height (in feet) of a toy rocket t seconds
after it was launched.

a) Label the point on the graph that corresponds 100 r—
to the rocket’s launch with O and the highest LY N
point it reaches as M. Find the average rate of / \
change of the height over the time intervals given 80 / \
below. A’{ \! C
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b. What are the units for the average rate of change? S;"\’ /SQC’

c. For which time intervals is the average rate of change positive?

O, 102, gna 2 10 2.5 seC.

When is it negative?

2.5 1 4 sec

When is it zero?

| o4 ond 1+ B sec

d. Identify two intervals where one has a greater rate of change than the other.
OYo\ se Voo %\“ eoker yode of Chnounes@
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5. Examine the graph of f(x).
The scale on the x and y-axis is 1.

/
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a. Is the function increasing, decreasing
or both?

P

b. Does this function have a maximum or minimum value? If so, where?
pinisnum cE (g 2)
c. Does this function have any x or y-intercepts? If so, list them.

(0,2) is y-inkrept  wo X-(ntereprs

d. Is the graph of this function symmetrical? If so, draw in a dashed line where the line of
symmetry would be located.

S\(W\MW\Q \/

e. What is the theoretical domain and range of thlS function?

Do\l yzals
‘\)5 p A
f. Find f(2). g. Find value(s) of x that satisfy the
Lo ng' %.: 2 equation f(x) =

whan (ﬁ "‘SLQ (1\

h. Is y a function of x? Explain. i. Is x a function of y? Explain.
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